


Question 1

AB 1s an arc of a circle, centre O, radius 9cm.
The length of the arc 4B 1s 6 mcm.
The area of the sector AOB is kmem?.

Find the val fk 2
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15cm

The diagram shows a sector of a circle with radius 15cm.

Calculate the perimeter of this sector.
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Question 3

NOTTO
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25cm
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The diagram shows a sector of a circle, centre O, radius 25cm.
The sector angle is 38°.

Calculate the length of the arc AB.
Give your answer correct to 4 significant figures.

38, 2Tx25:=16.58cm
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Question 4

-—6.lcm—

A protractor is a semi-circle of radius 6.1 cm.

Calculate the perimeter of the protractor.

Sem! circle = Tr =61 T om

Pertmeter = 6T + 1e.2
= 3l.ycm

Question 5

The circumference of a circle is 30cm

(a) Calculate the radius of the circle.

21‘? = 30
Ys '-l.'-H o

(b)

NOTTO
SCALE

The length of the arc of the semi-circle is 15¢cm.

Calculate the area of the semi-circle.
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Questionb6

NOTTO
SCALE
A travel brochure has 72 holidays in four different countries.
The pie chart shows this information.
(a) There are 24 holidays in Thailand.
Show that the sector angle for Thailand is 120°. [

24 360 =120
32 cshown)

(b) The sector angle for Malaysia is 150°.
The sector angle for Singapore is twice the sector angle for Hong Kong.

Calculate the number of holidays in Hong Kong.

Question 7 B
NOTTO
SCALE
8cm
0 C /

OAB is the sector of a circle, centre O, with radius 8cm and sector angle 30°.
BC is perpendicular to OA.

Calculate the area of the region shaded on the diagram.

A O‘c seel-or- 30 x(r'r s 16.F6 Cm [5]
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Questionl

Find the circumference of a circle of radius 2.5 cm

aTr = 15.F0m

Question 2

NOTTO
SCALE

120°

{ and B lie on a circle centre O, radius S5cm.

Angle AOB = 120°.

Find the area of the shaded segment.

Areo. of A= J—*“"""'w
= |o 83€-"°z

of eector = 120 x T 38
Area Teo

Shodgd. =16-18 - \0 g3
16.3% e’

Question 3
NOT TO
SCALE

The diagram shows a circular disc with radius 6 cm
In the centre of the disc there is a circular hole with radius 0.5 cm

Calculate the area of the shaded section.

36T-0.26T = N2 3cm

2
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Question4

C
4cm 0 4cm NOTTO
A B SCALE
ABC is a sector of a circle, radius 4 cm and centre C. [3]

The length of the arc 4B is 8 cm and angle ACB =x°.

Calculate the value of x. -
X xallr= 8

° L]
36 2x360 _ |14.6
- 8x 360
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Questions

8cm

NOTTO

SCALE
6cm

28

The perimeter of the rectangle is the same length as the circumference of the circle.

Calculate the radius, r, of the circle. [3]

e =28
T =qoq6 m

Question6

A circle has a radius of 50 cm.

(a) Calculate the area of the circle in cmz. (2]
2 T
Tr'= 2600 2
= 3864 cm

2
(b) Write your answer to part (a) inm . [1]

1864 100 5100
2

e 0.38SYM
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Question7

NOTTO
SCALE

o <30

9cm
B

The diagram shows a sector AOB of a circle, centre O, radius 9 cm with angle 40B = 50°.

Calculate the area of the segment shaded in the diagram 2 (4]

D= _Lx qxqx Sin SO = 3l.02cm
gector = gg,dtx&\ = 36. 34 cm’
360
Question 8 Shaded - q.az‘:mz

60 students recorded their favourite drink.
The results are shown in the pie chart.

Apple
juice

NOTTO

Banana SCALE

shake
66°

Lemonade 1 2()7
- g

Cola

(a) Calculate the angle for the sector labelled Lemonade. [1]

84

(b) Calculate the number of students who chose Banana shake. [1]

s 550—603"“ nts
240 qg = 15 shudents

T__banon® dnake

(c) The pie chart has a radius of 3 cm.

Calculate the arc length of the sector representing Cola. [2]
CE—
6 120 xaxTTx3 = 6.28 cm
—
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Question 1

8cm

NOTTO

SCALE
6cm

A semicircle of diameter 6 cm is cut from a rectangle with sides 6 cm and 8cm.

Calculate the perimeter of the shaded shape, correct to 1 decimal place.

D s‘lscm‘ 2
A = T Txd o dyem
2 ~z

chaded =339cm

Question 2

NOTTO
@ SCALE

The diagram shows a circle of radius Scm in a square of side 18cm.

Calculate the shaded area.

O -324cwm

O -_-1\'\" 2

. 38.54cm

é‘erA =324- :"8‘5‘:‘
= 245.5 oM
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Question 3

NOTTO
0.8m SCALE
1.4m

The top of a desk is made from a rectangle and a quarter circle.
The rectangle measures 0.8m by 1.4m.
Calculate the surface area of the top of the desk.

G = 11297 3
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Question4

9
A spacecraft made 58 376 orbits of the Earth and travelled a distance of 2.656 x 10 kilometres.

(a) Calculate the distance travelled in 1 orbit correct to the nearest kilometre

68336 = 2.656 x109
1 ovbit = 45498 km.

(b) The orbit of the spacecraft is a circle.

Calculate the radius of the orbit.

aTr= 45498
v = 324 km

(2]
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Questionb

A large conference table is made from four rectangular sections and four corner sections.
Each rectangular section is 4 m long and 1.2 m wide.
Each corner section is a quarter circle, radius 1.2 m.

S a—

e ——
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NOTTO
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Each person sitting at the conference table requires one metre of its outside perimeter.
Calculate the greatest number of people who can sit around the outside of the table.

Show all your working.
2TY- v axao‘qX"a
= 7.536

Questionb

The radius of the Earth at the equator is approximately 6.4 x 10 metres.
Calculate the circumference of the Earth at the equator. Give your answer in standard form, correct to
2 significant figures. 6

= 40.21x\0

= 4.021x10
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